DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

331 —827.64 + (—9) =
3320 —40515 + 5 =

333 —266.68 + (—4) =
331) H802.4 + & =

335) —15384 + 2 =

336) —2114 + 7 =

337 —1694 + (=2) =
338) 650.52 +9 =

339 —2633.2 + (—4) =
s0) 1211 +1 =

s —11410 + (=2) =
12 —12664 + (—2) =
313 —4486.5 + 9 =

a0 477.85 + (—=5H) =

) 899.4 = (—10) =

Mathematics: Division - Level 6 - Horizontal - Set 1
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350)

351)

352)
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354)

355)
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357)

358)

359)

360)

13

—21807 + (=3) =
807+ (—1) =
49.96 -1 =

4026 + 10 =

7438 + (—1) =
0.42 + (=3) =
3996.6 <+ (—6) =

353.43 ~ 9 =
555.03 = 9 =
263.1 = (—10) =

2476 + (—10) =

—71440 = (—8) =

145.3 + (—=5) =
—1064 + (—4) =

—5442.3 + (—9)
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